2y EH B2 x =2c0s20, y=2cos30 (0<0<7) LENEBERIN-IECE2EZ 5.

Dk E, ROMIZER L.

(D0<O<EzBVT, y# 2ORTHEE. 7, %gegm:a&su\f, Y% x DRTHEY.

2

(2) dhik C OB % HilT.
(3) iR C ML FHIRD R % KD & .

2

(1) 27532 2 51 (=3,

(2) HAE 5@%5‘{

(3) BB f) =

ROMNIZE Z &,

xr = 2cost
TRINDHFROBIE % T
y = —sin“t

—sin’t +3

Scos] 13 PEAME LU B/MEE KD &.

ROZEM (7)), (1) 2 EFERz2ERX5.

(7) z+%£i§§§&’6c‘bé
(1) zOEMWIETHD
U, 1IXEMEMNTHD. 20X, ROMWNIEZ L.

(D) r=lzlBLLE, 2% r 2 HOTEY.
(2) zZOEEMBBEARERDEEID 2z %KD L.

(fEERZE 2014)

=3), (a, b) 2@ EMOHHRERAZ RO L. £ZLU, a, bIFFEHELTS.

(BRAZFE 2013)

EILREE 2016)

4 z—cosz—-i-zsmz—” D N Wt 1

’ /ko)Fﬁl‘\c‘—

5 5
(1) 2" =1, RB2B/NDIEDEK N %KD L.

(2) 22+ 23+ 22+ z+ 1 Dfti% kD k.

(3) (1+2)(1+ 22)(1 +z2H(1+ 28 Dffiz kb k.

(4) cos 257[ +cos T itz ke &.

A&, =720

, TIFRBHRAITH S,

iy

P8

<r

$

PN

2016)



0001822187718999

&rlo—O KEXE 0—e—

2014 4 MLUTEE 5 45 4 218

4 | zy Fli BZ x =2cos20, y=12c0s30 (0 <0 <m) EMNERFRINZMIMCE2ERXD. ZDL ¥,
ROBIZEZR L.

(1) t=cosO BT, x&y% it THRYE.
(3) it C OBV fit) .

(1) Xx=2(2cos*0=1), §=2(4cos’8~3ces6) &)
2= gtt-2 , B= 9ty

S—

@ ()ospgsEnes

05tsl wor )% G JFGa-0xrz

OEETYS X YT

[5t50 o [= % 47 U-0Ix2

(3) (2 ¢Y 55 bt ~25X5278)

730 mAdb 1 B¢ ATARG AT, 05055 0ttt G
’ /
g = g xr2 + (x—1)- ﬁ Z["Z Y IR
I(x+1)
2x+2

it iRE I AaL iR 3

F? 957 3A0E )RS,




0001359180468999

o0 ERXE 62—

2013 4F KA HE L (M8 - MW A7 ALAL) B 1

1| ROMNIZEZ L.

(1) #5258 25(=3, —3), (a, b) ZWMLEMDOABEAZ RO L. 727U, a, DIFEHLTL.

| x=~2cost
(2) &Kﬁﬂ&z‘w{ TRIND UNFROBIE % 21T .

1y = —sin’t

— gin? ‘
(3) B F(1) = S LED. ook £ O MIE Kb &
bt3

() (ax-3ar% Y= £

+3 3(b)
(3] =3 = 4= frj-x + T iy

Ggla=—IREE x=—d

73 3(b-a) ~
QR {Fﬁw zt+ 53 (a¥-i0ed)

Xx=-3 (a="30&F)

7
(2) ¢costT = f— st = -4 ¥ cost + SN E = [ (VALY

2

Al

(EV+ o=t = Jeged

$#l, —|Scostst , pSsintsS| &Y., -235xX52, -|54350

5T BB rtodsrnys, 4 ', y=F -1
() Ft) & 28 (2eosT, =sin'T), (3,73) ¢ 143 B0 (BT ‘-

sEITw3Erh BFM F) .

ft) o X s#3oir (=2,0) ¢ (-3,-3) B30T

(&), AT 1L, 3

F(H WRINEFI0E (2)0) B FG - $FT 3T g

1#E ¢ (ng'l"f) (FKL, ~25852) LH<k. It |

y= L) 4 JeE(a-3)r 5 S 2 A
: s X

Fons gefx-F- o oy N
cjz =lp-B-t « SriR-8:0

=
osssaay. s=A-3 1BEE 17

b3
WMEE) BALE 3. FME {"—%‘

‘/{téf%ﬂ

s’/




0002201638977999

&0 ELAE 0—02>

2016 #F 26 - BlEdE (Zofth) 23R

3| RDEM (7)), (1) Zhi/-THERzEHERD.

(7) z+ éw BERTH D
(1) zOEEIXETHD

20, IERBATHL., 20O E, ROMWZEZ L.

(D r=lzleBLE, 22 r 2 AVTEE.
(2) zDIREHRRREEDEEID z 2RO L.

() r=|z] e&<e (114, Z=r(cos+isinf) (0<O<KT) vFZ 2
¥,

A
Z'*'Z

11

+ising)t
F(cos6+ising) r(cos@+ising)

F(cosg+ising)+ %'(Cose—iﬁ?nﬁ‘)

(l"casG +l’_s3n9) * g (rsine ¥ —:: cose)

“)E%P 1 rsing +—£—c056 T (7) &', Fsind +7['cosﬁ =0 - (%)

s Frsing = ~—,’,— cos @

_ , [,
AT 2F LT, Fsitf= 5 sl

|
4 .. 2 - T 5 N - N —
F*sin*g = 1-sin 6 0<0LKT &Y sinh>0 %o, sinf= g

%) 1S AXALT, cosf= — I
*) =2
e r- L RN . Fo.
'Z"r(‘w*w) CEE T EE e
s
(2) = ——— ~ r>0)
Fr) o Lo¢ (M3
)C/(r}:-' \[r++|' _—r%ﬁ = (]"‘J")(l-]-i"}(l"'fz) FU |1 |-
a Vr& (F4) o [ +]o |-
fnll |7 [Z] N

C K ) Fasp B Kea3 Fid Fe)oes
T

’t




0002231818677999

&reo—O ELETAE 6—6—

2016 £ TZ2H46 58 2 [

2 z=cong”+isinzT” rELEE, ROMBIEZ L. 22U, i LERENTHS.

(1) 2"=1,LL2FNDIEOER n %= RD L.
() 24+ 2 +22+z+1DHEERD L.
(3) 1+2)A+2)1+z)(1+28) ofEx kb k.

(4) cos ZTE + cos 4T7r D7z b k.

M F-E77 L0 EEE &Y,

"= (msz?yc + i sin '2';_()"

2hT N 2h
cos —_b' LS 5

& phmy =5 -2-’-;.5 = 28 (RIFE)
< n=5%
CEdaEogFni n=5

(2) (B=1)(z++23+ 22+ 2+1) = 87—
0 (~(mdvy)

57 0<E T 5y, XH1 THINS, EAPTTrEA1=0

s

() (4%) = (1+7+22+2%) (1 + 2%+ 2%+ 21%)
|+Z+2 %+ Z3+z4=0 ¢ 2= &Y

= ¥ (1 22 egivgt)

11

...Z4 : (-—Z)
25 |

- ' 14l

1

"

n i -
cass-f-cosb_- 7

“

)o@y, E¥=%7 ,2 =72 \)/
4 2 :

v ZRtr e gt = (2 F) (22 R2) 74
=2cas%7-{ +2cas%lr
R ErERe P EY =10,




